Bed Rack Awning Mount Installation

1. Awning Mount can be installed on either side of bed rack, on the Included Hardware Kit

cross-members as well as the side panels depending on your

preference.

2. Install awning brackets using the supplied 3/8” carriage bolts,
washers, lock-washers, and nuts.

A. 3/8” x 1” Carriage Bolt 6 ea.
B. 3/8” Washer 6 ea.
C. 3/8” Lock-washer 6 ea.
D. 3/8” Hex Nut 6 ea.

3. Attach the awning using the hardware included supplied by awning
manufacturer.

Disclaimer: The products sold by RClI Metalworks are intended for off-road use only, should not be modified, and are for use only on the vehicle(s)

specifically stated. RCl Metalworks makes no warranties express or implied, including of fitness for a particular purpose or merchantability. RCI Metalworks
will not be liable for any damages arising out of the use or misuse of its products. It is the customers' responsibility to ensure the products are safely and
properly attached to the vehicle, and all products should be installed by trained professionals. We strive to maintain extremely high quality standards;

however, all RCI Metalworks products are individually handcrafted, may vary slightly, and may contain minor imperfections. Due to the nature of raw
aluminum, the material may have minor scratches and other blemishes caused by the manufacturing process, especially on the back side of product.

Metalworks is constantlv seeking to improve its products and reserves the right to make changes to anv product.

RCI




